SUPPORT UNIT

| SUPPORT UNIT OVERVIEW

—— INDEX (SUPPORT UNIT FOR BALL SCREW)

GENERAL GREASE INJECTION
NS EK EF | BK BF BK-G
Use for FIXED SIDE SUPPORTED SIDE FIXED SIDE SUPPORTED SIDE FIXED SIDE
Page 212p 213p 214p 215p 27p
NS AK AF FK FF FK-G

Use for FIXED SIDE SUPPORTED SIDE FIXED SIDE SUPPORTED SIDE FIXED SIDE

Page 216p 216p 217-218p 219p 228p
WBK
FIXED SIDE FIXED SIDE FIXED SIDE
Use for FIXED SIDE SUPPORTED SIDE (MINIATURE) IGH LOAD] ]

Shape

Page 220p 220p 21p 24p 229p

NN
] e ..
Shape u @ @
: e
Page 230p 231p 232p 233p 234p 235p 235p

204  SUNG-IL MACHINERY



SUPPORT UNIT

SUPPORT UNIT OVERVIEW |

—— SUPPORT UNIT

SUPPORT UNIT FOR BALL SCREW

Product Features

Product Classification

Square
Fixed Side
Round . .
General
Load
Square “ n
Supported
Side .
Round o u
High Load | Fixed Side | Round

205



SUPPORT UNIT

| SUPPORT UNIT OVERVIEW

SUPPORT UNIT

SUPPORT UNIT FORBALL SCREW

Installation Guide

Hexagonal socket-head setscrew

Snap-ring  Deep groove ball bearing

L
j
13
[S]
[S]

Setpiece,
Lock-nut

O]

7

I N
==

]
i

I J 7N |
Supportedside Fixedside  Collar
) Table Nut bracket Fixed side
Supportedside Supportunit
Supportunit
7ﬁ I
1 IV o
i J x W I -
Lt Base
| E—
I )
| (

Measure the axial

clearance

Reciprocate table for smoother travelling
throughout the whole stroke.
—

?

Measure the runout

f%_‘ J%/h = T e
‘ e %
Coupling
? MomrBra%:\EingMotor
o ——r==e g 7 ]
i%f\.ij%ﬂx I Hl ]
‘ <—<‘%Base

.7

Installation of Support Unit with Ball Screw

. Mount ball screw onto fixed side support unit.

- Thesupportunit must not be disassembled.

- Make sure the oil-seal ringis not folded when the shaft-end is
pushed towards the bearing.

- Fasten set-screws of lock-nut after assembling collars.

- Mounta nut bracket onto the nut of ball screw.

. Mountthe deep groove ball bearing (of supported side support

unit) onto the ball screw shaft-end, and fix with a snap-ring to
secure and then insert the assembly to the housing of
supported side support unit.

Assembly with the Table & Base

. Assemble the table with the nut bracket of ball screw.
. Mount the fixed side support unit temporarily with the base.

- Ifthefixed side support unitis used as a reference point, make sure
thereis clearance secured between the outer diameter of ball screw
nutandtable. (orinner diameter of bracket)

- Ifthetableisused as areference point, adjust height with shims for
square shaped support unit or secure clearance between outerand
inner diameter of inserted area for round shaped support unit.

. Mount the supported side support unit temporarily with the

base.

Checking Accuracy & Fastening Fully

. Shiftthe table towards the center of the shaft and make it

reciprocate between both ends so that motion is adjusted
runningin line as smoothly as possible.

. Measure the runout of the ball screw shaft-end and axial end-

play by using a dial gauge. In the meantime, fully fastenin the
following order, the nut bracket with the table, fixed side
support unitand base, supported side support unit and base.

Connection with the Driving Motor

. Fully mount the motor bracket to the base accurately aligning

with the ball screw.

. Connect the motor and the ball screw with a coupling.
3. Operate the motor trial-run at a slow speed to make sure the

assembly is accurately done.

206  SUNG-IL MACHINERY



SUPPORT UNIT

SUPPORT UNIT OVERVIEW |

SUPPORT UNIT

SUPPORT UNIT FORBALL SCREW

Made-To-Order Process

Sung-il Machinery can conduct Made-To-Order processes (customization) upon our customer's requests.

B 4 ©F

Low- temperature . '
Standard Black Chrome Plating (Raydent) Stainless Steel Electroless Nickel Plating
Standard Made-To-Order
Material STEEL High Strength Aluminum Alloy
Stainless Steel
Surface Treatment Black Oxide Low-temperature Bleck Chrome Plating
Electroless Nickel Plating

Modified Design Completely New Design
(e.g. additional tapped-holes, changed height etc.) (according to special specifications)

» Special grease options available for vacuum/
cleanroom purposes

+ Or,other grease can be applied upon request
(Thespecific grease model nameis required inadvance)

% Forthese Made-To-Order processes above, please contact Sung-il Customer Service team prior to firm order placement, in order to
discuss accurate specification/design.

207



SUPPORT UNIT

| SUPPORT UNIT OVERVIEW

—— SUPPORT UNIT

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

Structure
Deep Groove Ball Bearing Snap Ring
Bearing Cover .
— Housing
Set Screw
Set Piece
Lock nut Body
B

Fixed Side Supported Side

= DFarrangement of angular contact ball bearing combinations

= Full ran%es with high accuracy without runout according to
adequate preload given in advance

= Prevention of foreign material and leak of grease by the inner
oil-sealrings

= Accompanied by a high accuracy lock-nut and collars(spacer)

= Accompanied by a deep-groove ball bearing and a snap-ring

Bearing Combinations

1. Arrangementtypes of angular contact ball bearing combinations

1) DBcombination (back to back): The large distance between the effective load centers resultsin
higherrigidity at the moment load. However if accuracy of housing is not enough, it may produce

damagee.g. flaking ata earlier stage due to the increased internal load. Preload is determined by

torque when the user fastens the lock-nut.

DF combination (face to face): The small distance between effective load centers limits bearing
capacity to sustain moment load, however it performs at a better level to absorb the margin of

assembly error. Preload is determined at maker’s assembly of bearing cover, thus this way allows
easier self-management for users.

L)

2. Standard arrangement type of Sung-il products is DF combination. distance distance

% Inany case DB combination type is requested, please contact Sung-il Customer Service team DB ﬂDFTi
forfurther assistance.
How to Order
Fixed Side Supported Side
BK12 PO-C7 - BF12 -
Precision Surface Surface
grade mark Treatment Treatment
Mark Bearing precision K SuEee e
‘ (Fixed Side Only) grade e mar uriace freatmen
‘ (DPrecision P5 P5 Medium @Surface no mark Black Oxide
grade mark ) Treatment

‘ cs General Medium RA Low temperature Black Chrome
‘ P0-C7 General Light Plating (Raydent)

208  SUNG-IL MACHINERY



SUPPORT UNIT

SUPPORT UNIT OVERVIEW |

SUPPORT UNIT

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

List of Bearings (Fixed Side)

Bearing Inner
dia. (mm) )

P0-C7

FK4 AC-4-12-DF 63427
FK5 AC-5-14-DF 62577
“ FK6 T06ATYNDFMP5 | T06ATYNDFC8 60622
BK6 EN6
EK8 FK8 CK8 TO8ATYNDFMP5 | TOSATYNDFC8 EN8/BA22-1
8 BKS EN8/BA22-1
AK8 708ATYNDFMPS
EK10 BK10 AK10 FK10 CKI0 | 7000ATYNDFMPS5 7000AWDFM 7000AW
EK12 BK12 AK12 FK12 CK12 | T7001ATYNDFMP5 7001AWDFM 7001AW
EK15 BK15 AK15 FK15 CK15 | T7002ATYNDFMP5 7002AWDFM 7002AW
BK17 FK17 T203ATYNDFMP5 7203AWDFM T203AW
EK20 AK20 FK20 T204ATYNDFMP5 7204AWDFM T204AW
BK20 7004ATYNDFMP5 7004AWDFM 7004AW
EK25 BK25 FK25 7205ATYNDFMP5 7205AWDFM 7205AW
BK30 FK30 7206ATYNDFMP5 7206AWDFM 7206AW
BK35 FK35 T207ATYNDFMP5 7207AWDFM T207AW
BK40 FK40 T208ATYNDFMP5 7208AWDFM T208AW

List of Bearings (Supported Side)

Bearing Inner

dia. (mm) EF BF FF CF Bearing
[ o6 | EF6/EF8 BF6/BF8 FF6/FF8 CF8 60622
EF10 BF10 AF10 FF10 60822
EF12 BF12 AF12 FF12 CF10/CF12 600022
EF15 BF15 AF15 FF15 CF15 600227
BF17 FF17 620327
EF20 AF20 FF20 620422
BF20 600427

EF25 BF25 FF25 620527
BF30 FF30 620627
BF35 FF35 620722
BF40 FF40 620827

Product Recommendation by Ball Screw Outer Diameters

Ball Screw Outer dia. Fixed Side
(mm) 3 FK
| oc Y FK4
EKS/EK6 | BK6 FK5/FK6 EF6 BF6 FF6
EK8 BK8 AK8 FK8 CK8 EF8 BF8 AF8 FF8 CF8
EK10 BK10 AK10 FK10 CK10 EF10 BF10 AF10 FF10 CF10
EK12 BK12 AK12 FK12 CK12 EF12 BF12 AF12 FF12 CF12
EK15 BK15 AK15 FK15 CK15 EF15 BF15 AF15 FF15 CF15
95 5 BK17 FK17 BF17 FF17
EK20 BK20 AK20 FK20 EK20 BF20 AF20 FF20
EK25 BK25 FK25 EF25 BF25 FF25
BK30 FK30 BF30 FF30
BK35 FK35 BF35 FF35
BK40 FK40 BF40 FF40

209



SUPPORT UNIT

| SUPPORT UNIT OVERVIEW

SUPPORT UNIT

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

Recommended Shape Of Ball Screw Shaft-End (Fixed Side)

M
! |
Ry — — — — - — — [
2 s ] .
i
L |
I
— S T
F E

Dimensions(mm) Lock-nut

I S I S I S A S M
.nMﬂ--Mﬂ--Mﬂﬂ-Mﬂ--Mﬂ-- (MxPitch)

| o W
| 010-012
| 010-015 |
| 014-018

EK4 FK4 RN4 | M4x0.5

5 4 JEKS| 256 | 8 FK5|25 6 | 8 RNS | M5x0.5

6 4 |EK6| 30| 8| 8 |BK6|30 8 | 8 FK6 |30 8 | 8 RN6 | M6x0.75
210-212 6 EK8| 35| 9 |10 BK8 35| 9 |10 AK8 30| 9 |10 FK8|35| 9 |10 CK8 34| 9 | 10 | RN8  M8x1/0.75
210-215 Wl 8 |EK10| 36 | 15 | 11 |BK10| 39 | 15 | 16 AKL0| 36| 15 11 |FK10|36 15 11 CK10| 36 | 15 | 11 | RN10 |M10x1/0.75

OIESORRES 12 10 |EK12| 36 | 15 | 11 |BK12| 39 | 15 | 14 |AKI2| 36 | 15 11 |FKI2 36| 15 | 11 |CK12) 36 | 15 11 |RN12 | MI2x1
220 15 | 12 |EKI5 49 | 20 | 13 |BK15 40 | 20 | 12 |AK15| 49 | 20 | 13 |FK15 49| 20 | 13 |CK15| 49 | 20 | 13 |RNI5 | MI5x1

15 BKIT 53| 23 | 17 FKIT 57| 3 | 17 RNLT| MI7x1

SN 5 o e 25 17 B0 53| 25| 16 AK 64| 25| 17 FKD0 64| 25 | 17 RN20 | M20x1
25 20 |EK5| 76| 30 | 22 |BKS 65 | 30 | 19 FK25| 76| 30 | 20 RN25 | M25x 15
N B BK30 T2 | 38 | 25 FK30| 72| 38 | 25 RN30 | M30x L5
o5 KRS BK35| 83 | 45 | 28 FK35| 83 | 45 | 28 RN35 | M35 L5

0 3B BK40| 98 | 50 | 35 FK40| 98 | 50 | 35 RN40 | M40X L5

210 SUNG-IL MACHINERY



SUPPORT UNIT

SUPPORT UNIT OVERVIEW |

SUPPORT UNIT

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

Recommended Shape Of Ball Screw Shaft-End (Supported Side)

1 N i I
SR :
= o I/ 1 o
< Q TS
(S Y ] |
\ — !
+0.14 [
GO -
+0.2
F O
E

A
!

Dimensions(mm)

[ 4 | EF BF AF FF CF A E B F G
EF6 BF6 FF6 6 9 56 69 09
EF8 BF8 AF8 FF8 CF8 6 9 56 69 0.9
EF10 BF10 AF10 FF10 8 10 76 79 0.9
EF12 BF12 AF12 FF12 CF12 10 11 96 9.15 115
220 EF15 BF15 AF15 FF15 CF15 15 13 143 10.15 115
o BF17 FF17 17 16 162 13.15 115
EF20 BF20 AF20 FF20 20 19(16) 19 |1535(1335)] 135
EF25 BF25 FF25 25 20 239 16.35 135
BF30 FF30 30 21 286 17.75 175
945 BF35 FF35 35 2 33 1875 175
BF40 FF40 40 23 38 19.95 195

% Thevalues in brackets are for model no. BF-20.

211



SUPPORT UNIT

| EK SERIES

S s

SUPPORT UNIT : EK SERIES 72 (Y.

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

EK4 ~ EK5

2-@X Drill Thru

m
fﬁ%ﬁ%’!‘!é’:z J ‘

| |
} |
T

| |

| |

| |

m

Additional note for [EK-25] P
) /\ 2-¢78
Lock Pin
@ Ea/GD\ o8
15 15 Djl-:h{u

Dimensions

Sizes (mm)

S N < 2
L4 L5

dl | L L1 L2 L3 | B | H [b£0.02(h+002| BL | HL | P | X | Y yA aT

CNLIRed 4 | 15 | 55 |175/185 3/2| 34 | 19 | 17 | 10 | 18 | 7 | 26 | 45| - - 10 4.5/35/45/35 50
Gl 5 | 16555650 195 3536 |21 18 | 11 1 20 | 8 | 28 |45 | - - 11 |5.5/455.5/45 68

6 | 20 | 55 22 35142 25| 21 | 13 | 18 | 20 | 30 | 55|95 | 11 12 5 7 120

o |

7 | 26 | 4 5 32|17 25 26|38 66| 11| 12| 14 55 75 230
EK10 10024 6 | 205 |6 7043 |25 3 24 5 9 - - | 16|55 55 430
1224 6 | 205 |6 70 435 25 3 24 5 9 - - | 19|55 55 420
525 6 36 | 5 8 50 40 |30 |41 25 60 11| - | - | 2 10 10 | 530
20 4 10 | 50 10 95 58 475 30 |56 25 75 11| - | - | 30 11 11 | 1310
EK25 25 (48| 13 | 59 |14 |105| 68 |525| 35 | 66 | 25 | g5 [Seetheadditional .oy, | g, |05,

note above>

% Only EK-4 and EK-5 have different dimensions according to the bearing grade (P5/P0-C7).

217  SUNG-IL MACHINERY



SUPPORT UNIT

EF SERIES |

SUPPORT UNIT © EF SERIES 7%

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

EF6~EF8

S aore e 1
| i L A | i | . u@fﬁ
e - T [S! L i
TN e
R |
- ‘ i
EF10~EF25
]
2-@X Drill Thru H:i:,:ﬁ
%\ ‘ g [ |
T\ T T Ei
n HiEE T
DD Do !
1 \b 1 1 ‘L

Dimensions
Sizes (mm)
Mass | Snap-
(g) ring
6 12 4 25 20 13 18 20 30 55 95 1l | 120 | C6 | 6062Z
EF8 6 14 | 5 | 32 | 26 | 17 | 25 26 | 38 | 66 11 | 12 | 230 C6 | 60622
8 20 70| 4 3 25 3 24 5 9 | - - | 40 8 | 6082z
0 20 | 70 4 | 3% | 25 3% | 24 | 5 9 : - 40 | Cl0 | 60002Z
15 20 8 | 50 40 | 30 4 | 25 & 9 - | - 50  CI5 600222
20 | 26 | 95 | 58 | 475 30 | 56 25 | 15 | 11 | - - 1310 | C20 | 620477
25 | 30 | 105 | 68 | 525 | 35 | 6 | 25 | & | 11 | - - 1950 | 25 | 62052z

213



SUPPORT UNIT

| EK SERIES

SUPPORT UNIT : BK SERIES /702

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

BK6 ~BK8

2-@X Drill Thru
@Y C'BORE DP Z

H1

| |
o
|
| |
| |
| |
| |
| |
Ll

BK10 ~ BK40

4-@X Drill Thru

Y C'BORE P Z @ 7‘ @‘ Z
REN s
4-@d2 Drill Thru U \:J} x
I
I
I
I
|

flon=c

Dimensions

Sizes (mm)

Spacer(collar)
L4 L5

H [bro02[hto02 B1 [ H1 z

6 |23|5|24] 4 |52]32] 26|17 |25]26]-[38|-|-|-|e6|1]|6]12] 5 |5 [230

BK8 8 23 726 4 5 32 26 17 |25 26 - 38 - - | - 66 11 6 | 14 55| 75 230
10255 29 5 60|39 30 | 22 | 34325 15|46 13 6 55|66 /108 5 16| 5 | 5 | 360
12025529 5 60 43 30 | 25 34 35 1846 13 6 55 66108 6 19 5 5 390
1521 6 32 6 70 48 35 28 40 38 18 54 15 6 55 66 11 6 22 6 6 530
17,359 44 7 8 64 43 | 39 50 552868 19 8 66 9 1485 24 T 7 1270
2035|8438 8 60 44 34 5 50 22|70 19 8|66 9 14 85 30 8 | 8 1650
25 4212 54 9 106 80| 53 | 48 64|70 33 8 22 10 9 |11 |175 1135 9 | 9 |2310
30 45 14 61 9 128 89| 64 51 76|78 33 102023 11 11|14 20 13 40 9 | 9 |3330
35 50| 14 | 67 12140 96| 70 | 52 |88 |79 35 114 26 12|11 14 20 13|50 12 | 12 4380
40 61| 18|76 15 160 110 80 | 60 | 100 90 | 37 |130| 33 | 14 | 14 | 18 26 175 50 15 | 15 6670

214  SUNG-IL MACHINERY



SUPPORT UNIT

BF SERIES |

SUPPORT UNIT : BF SERIES 7

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

BF6~BF8

2-@X Drill Thru

Y C'BORE DP Z \
|
|

H1

Sy

BF10 ~ BF40

2-@X Orill Thru
®Y C'BORE DP Z

4-@d2 Drill Thru

L

I

H1

B

Dimensions

b£0.02 | h£0.02

Sizes (mm)

BF10

BF12

BF15

BF17

BF25

6 14 | 52 | 32 26 17 25 | 26 - 38 - 66 | 11 | 12 120 C6 60627
8 20 | 60 | 39 30 22 34 1325 15 | 46 | 55 | 66 | 108 | 5 260 C8 60877
10 20 | 60 | 43 30 25 34 | 35 | 18 | 46 | 55 | 66 | 108 6.5 270 C10 | 6000ZZ
1520 | 70 | 48 35 28 | 40 | 38 | 18 | 54 | 55 66 | 11 | 65 310 C15 | 6002zZ
17 1 23 | 8 | 64 | 43 39 50 | 55 | 28 68 | 66 | 9 14 | 85 680 C17 | 6203ZZ
20 | 26 | 88 | 60 44 34 52050 | 22 70 | 66 | 9 14 85 710 C20 | 600427
25 | 30 | 106 & 80 53 48 64 | 70 | 33 | & 9 11 | 175 | 11 1340 C25 | 620577
30 | 32 | 128 | 89 64 51 76 | 78 | 33 | 102 11 | 14 | 20 | 13 1880 C30 | 620677
35 | 32 | 140 | 9% 70 52 8 | 79 | 35 114 | 11 | 14 | 20 | 13 2080 C35 | 620777
40 | 37 | 160 | 110 | 80 60 | 100 = 90 | 37 | 130 | 14 | 18 & 26 |17.5| 3100 C40 | 620827

215



SUPPORT UNIT

| AK/AF SERIES

SUPPORT UNIT : AK/AF SERIES 712

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

AK8 ~ AK20

n-@X Drill Thru

Y C'BORE DP 2

i

I |
4-@d2 Orill Thru L‘——Fd -

I

Ny |

FanY

o

1T

L L

Sizes (mm)
Spacer(collar)

[F n
AK8 820 3245 4 5232 26 | 17 (2526 10 4 38| - 10 55 2 66 11 12 14| 4 | 4 | 190
BOYSTN 10 24 6 205 6 70 43| 35 | 25 3635 15 4 52 - 12 66 2 9 14 11 16 55 55 450
1224 61295 6 70 43| 35 | 25 [36]35|15 4 52| - 12166 2 9 |14/11]19] 55 | 55| 440
BOVYEERN 15 25 6 (36 5 80 50 40 | 30 4140 15 4 60 - 12566 2 |11 17 1522 10 | 10 570
I 20 42| 10|50 10 95 58| 475 30 56|45 - | - [75]/22/10] - | 4|11 /17]15(30] 11 | 11 |1400

AF8 ~AF20

2-@X thru ‘ )
@YC'BORE DP Z
;6 m ]

4-@d2 thru

b

?RZA
ASZAE
[
HE

Dimensions

Sizes (mm)

Snap-ring| Bearing

b£0.02 | h+002| BL F
6 155 32 26 | 17 | 25|26 10| 4 |38 55| 66 11|12 130 c6 60622
8 20|70 43 35 25 36 35 15 4 5 66 9 14 11| 320 cs 60827
02070 43 3 | 25 36 35 15| 4 |5 66 9 14 11 330 Cl0 | 60002Z
15,208 50 | 4 | 30 41 40 15| 4 |60 66 9 14 11 370 Cl5 | 60022z
202695 58| 415 30 56 45 - | - 75| - | 1|17 |15 60 | C0 | 6042z

216 SUNG-IL MACHINERY



SUPPORT UNIT

FK SERIES |

SUPPORT UNIT : FK SERIES /2

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

FK4 ~FK8

@0 g6

[ Install Method A

4-@X Drill Thry
@Y C'BORE DP Z

[ Install Method B ]

FK10 ~FK30

L4 Ls

e ai

@0 g6

F H Lt
L

[Install Method A

x Additional note for [FK-30]

s

<
Blirs

4-@X Dl Thry
@Y C'BORE DP Z

[ Install Method B ]

In case of choosing “Install Method B” size of spacer(collar) needs to be accordingly changed. Please contact Sung-il Customer Service team for more details.

Dimensions

FK4 P5/P0-C7 EREENG

Sizes (mm)

Body Spacer(collar)

Install Method AlInstall Method B

HCETEEed 5 165

FK8 8 | 23

FK12 12 | 27

6 | 9 |22 18|32|24 25|55 | 32| 65 43|34 6 4 10 |45354535 40
6 105 24 | 20 34 26 | 26 |55/65 35 | 7/6 | 5/3 |34 6/65 4 | 11 55/4555/45 50
7 113,29 22|36 |28 28 55 | 35| 85 | 45 3465 4 12| 71 5 65
9 | 14 {335/ 28 | 43| 35 |35 | 7 4 10 5 [34|65| 4 | 14| 75 | 55 | 125
10 | 17 [295 34 52 42 | 42 | 15 5 8.5 6 |45 4 16| 55 | 55 | 200
10 | 17 |295] 36 | 54 | 44 | 44 | 15 5 8.5 6 |45| 8 | 4 | 19| 55 | 55 | 225
15117 36 | 40 63 50 52| 10 6 12 8 |55/95 6 |22 10 10 | 340
22 23 | 46 | 50 77 | 62 | 61 | 10 9 13 12 /66|11 10|24 9 9 770
22130 | 50 | 57 8 | 70 68 8 10 12 14 166 11 10 30| 11 11 | 1065
27 1 30 | 60 | 63 1 98 | 80 | 79 | 13 10 20 17 9 | 15|13 35| 15 15 | 1465
30 32 61|75 117 95 | 93 | 11 12 21 18 | 11 |175 15|40 9 9 | 2300

% Only FK-4 and FK-5 have different dimensions according to the bearing grade (P5/P0-C7).

217



SUPPORT UNIT

| FK SERIES

SUPPORT UNIT : FK SERIES /52

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

FK25D, FK30D

60X Drill Thru S E T
©Y C'BOREDP Z Q 5 L4
|

@D1
@d1
I
1
1 !
ng N
@D2 g6

PA 4] L

E T1
L5 L4
©
; =]
8 — 3
IS}
H|_F
Ul L

Dimensions

Sizes (mm)

B
FK25D 25 | 4 | 15 | 27 | 52 | 8 | 8 122 100 | 92 12 | 10 11 | 18 | 11 | 35 10 10 2500

FK30D 30 | 45| 15 ) 30 | 59 | 9 | 90 | 138 | 116|106 14 | 11 11 | 18 | 11 | 40 11 11 3500

FK35 35 | 48 | 16 | 32 | 67 | 112 100 | 154 | 132|120 14 | 12 11 |175 11 | 50 12 12 4080
FK40 40 | 61 | 18 | 43 | 76 1 126 | 120 | 176 | 150 128 | 18 16 | 14 | 20 | 13 | 50 15 15 6750

218 SUNG-IL MACHINERY



SUPPORT UNIT

FF SERIES |

SUPPORT UNIT : FF SERIES #ms? (¥,

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

FF6 ~ FF30

4-¢X Orill Thru
@Y C'BORE DP Z

?A

paet

vl

P.C.D
odL
::i::
EillE
ﬁ}ge

a8

T

Dimensions

Sizes (mm)

Mass

(g)

Snap-ring| Bearing

H F C. z
6 10 6 4 2 | 3% | 28 | 28 34 65 3 30 6 60622
8 12 7 5 28 | 43 | 35 | 35 | 34 65 | 4 60 c8 60822
015 7 8 % | 52 | 4 | 4 | 45 | 8 4 100 C10 | 600077
15 17 9 8 4 | 63 | 50 | 5 | 55 | 95 | 55 140 C15 | 600227
7 20 1 9 50 | 77 | 62 | 6l | 66 11 | 65 290 Cl7 | 62032z
20 20 @1 9 57 | 8 | 70 | 68 | 66 11 | 65 380 C0 | 620427
5 | 24 | 14 | 10 e | 98 | 8 | 19 9 14 | 85 590 €25 | 620522
30 | 21 | 18 9 75 0117 | 95 | 93 | 11 | 175 1 930 C30 | 62062Z

FF25D, FF30D

FF35, FF40

6-¢X Drill Thru

@Y G'BORE DP Z

8-@X Drill Thru
@Y C'BORE DP Z

@0 g6

Dimensions

Mass

(g)

Snap-ring| Bearing

25 30 | 15 | 15 | & | 12 100 9 | 11 | 18 | 11 | 1400 25 | 620522
30 | 32 | 15 17 | 9 | 138 | 116 @ 106 | 11 | 18 | 11 | 1800 30 | 620622
35 | 34 | 15 | 19 | 100 | 154 132 | 120 | 11 | 175 | 11 | 2050 €35 620722
40 | 3% | 18 | 18 120 | 176 150 | 128 | 14 20 | 13 | 3050 C40 | 620822

219



SUPPORT UNIT

| CK/CF SERIES

— SUPPORT UNIT . CK/CF SERIES (Low-Centered Type) @

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

CK8~CK15

2-@X Drill Thru
@Y C'BORE DP Z

Sizes (mm)

8 | 215

295 6 70 | 38 | 35 20 | 52 | 12 14 119 | 16 55 5.5 430
25| 6 70 | 38 | 3 20 52 | 12 14 | 19 | 19 | 55 53 430
38 5 80 | 42 | 40 22 | 60 | 125 11 | 17T 23 | 22 | 10 10 540

X

26535 | 62 31 | 31 155 46 11 9 14 | 18 14 6 6 260
9
9

oo | O

CF8~CF15

2-@X Drill Thru

¢YCBOREDPZ‘\‘ | 1 1 i
[ ! [
| ‘ | | ‘ |
| | | | H
o ) ol g B
ﬂﬁgf W Tﬁr x 81 Bl iy
1 -
e |
b |
4 L
B
Dimensions
Sizes (mm)
Snap-ring Bearing
b£002 | h£0.02 X
CF8 6 16 6 | 3 | 31 | 155 46 | 9 | 14 | 18 165 c6 60627
0 20 70 38 35 | 2 | 5 9 | 14 | 19 285 c10 600027
0 20 70 38 |3 | 20 5 9| 14|19 285 c10 60007
15 2 | 8 | 42 |40 | 2 6 | 9 14 23 355 c15 600222

270 SUNG-IL MACHINERY



SUPPORT UNIT

WBK SERIES |

SUPPORT UNIT : WBK SERIES (Miniature Type)

SUPPORT UNIT FOR BALL SCREW (GENERAL LOAD)

WBKO04, WBK06

2-¢3.4 Thru A

W
N

N
/

N\

@D1 % g5

A )
4N

% Make sure the lock-nut s fastened fully due to frequent detachment of flange shaped miniature ball bearing.

% Spacer(collar) are mounted on the body at release for the loss prevention.

Dimensions
Sizes (mm)
Spacer(collar)

@8X@4X1 - 1EA

M4X0.5
@9.1X@6X1-1EA

M6X0.75

25 19 10

13 12.5 9

WBK04 4 14 25
19 30 18 17 11 5 6.8 25

24 12

;

221




SUPPORT UNIT

| SUPPORT UNIT OVERVIEW

—— SUPPORT UNIT

SUPPORT UNIT FOR BALL SCREW (HIGH LOAD)

Support Unit For Ball Screw (High Load)

Structure

Bearing Cover

Housing

Set screw

‘ Set Piece

/ Lock nut Body

Oil-seal ring
-

-

Spacer(Collar)

Bearing Combinations

DF Combinations DFD Combinations DFF Combinations
PIHOTOHKL—--— PIHOTO O — - — OO TOTOEK—--—
OIS DTN I ]
| /N L AN L /N
A%WQGM::::J *%&FQGGM::::/ *%Wnnggqx::::/

Howto Order
SWBK25 DFD -
Bearing Surface
Combinations | Treatment
‘ mark combinations mark Surface Treatment
‘ (DBearing DF Double-row @Surface no mark Black Oxide
Combinations B Treatment
DFD T -
‘ riple-row RA Low temperature Black Chrome
‘ DFF Four-row Plating (Raydent)

27  SUNG-IL MACHINERY



SUPPORT UNIT

SUPPORT UNIT OVERVIEW |

SUPPORT UNIT

SUPPORT UNIT FOR BALL SCREW (HIGH LOAD)

Support Unit For Ball Screw (High Load)

List of Bearings

B BasicL[;ZEamic Permiﬁ)ila)(ljeAxial Preload Axial Rigidity | Starting Torque
: o) o) (N) N/ (N-cm)

Bearing
Combinations

DF 17TAC4TC 23,000 26,600 1,450 630 14
DFD 17TAC47C 37,500 53,000 1,970 930 19
DF 20TAC47C 23,000 26,600 1,450 630 14
DFD 20TAC47C 37,500 53,000 1,970 930 19
DF 25TAC 62C 29,900 40,500 2,280 850 21
DFD 25TAC 62C 48,500 81,500 3,100 1,250 28
DF 30TAC 62C 30,500 43,000 2,400 890 23
DFD 30TAC 62C 50,000 86,000 3,260 1,310 30
DF 35TACT72C 32,500 50,000 2,750 1,030 27
DFD 35TAC 72C 53,000 100,000 3,740 1,500 34
DFF 35TAC 72C 53,000 100,000 5,490 2,060 43
DF 40TAC 72C 33,500 52,000 2,860 1,080 28
DFD 40TAC 72C 54,000 104,000 3,900 1,590 36
DFF 40TAC 72C 54,000 104,000 5,730 2,150 46

223



SUPPORT UNIT

| SWBK SERIES

SUPPORT UNIT : SWBK SERIES 712

SUPPORT UNIT FOR BALL SCREW (HIGH LOAD)

SWBK 35, SWBK 40
v

SWBK17,SWBK20 SWBK 25, SWBK 30
v v
8-¢ X Drill Thru

5 Y G'BORE DP Z
¢ ™ X -2 X Drill Thru o —~—
A X 2 W [#Y C'BORE DPZ '
N ~ N
9)

450

P.C.O
@A
P.C.D
PA
A

4-MS5 TAP DP10 i 4-M6 TAP DP12 4-M6 TAP DP12
P.G.D 958 hoth-sided process P.C.D # 70both-sided process P.C.D #80both-sided process

DF Combinations DFD Combinations DFF Combinations

v v v
E T E T E T
L5 L4 L5 L4 L5 L4
= = =
KBGO XGOS XBCHOTOO]
(7] © ©
33 A g = HIH s e A 4
A 8 A A 8

[@
19}
¢
9
9
¢
s
9
b

L L u L L1 L

Dimensions

Sizes (mm)

Spacer(collar)
pcpD|l B | L1 vy |z ] v s
17| 47 15 32 6 |15 72 70 106 8 8 | 13 14 85 15 | 15 | 1900

X
9

176 |15 47 78|15 72 70 106 8 8 | 13 | 9 | 14 85 15 15 | 2300
9
9

0 47 15 2 | 63| 15 72| 70 106] 88 | 8 | 13 14 85| 15 | 15 | 1900
20 6 |15 4 | 78 15 72| 70 106 8 | 8 | 13 14 85| 15 | 15 | 2250
25 | 51| 18 | 33 | 68| 18 | 90 | & | 130 110 | 100 15 | 11 | 175 11 | 18 | 18 | 3100
25 | 66 | 18 48 | 83 | 18 | 90 | 8 | 130 110 | 100 15 | 11 | 175 11 | 18 | 18 | 3400
30 | 51| 18 | 33 | 68 | 18 | 90 | 8 | 130 110 | 100 15 | 11 | 175 11 | 18 | 18 | 3000
30 | 66 | 18 48 | 8 | 18 | 90 | 8 | 130 110 | 100 15 | 11 | 175 11 | 18 | 18 | 3300
35 | 51 | 18 | 33 | 68 | 18 | 102| 95 | 142 121 | 106 | 15 | 11 | 175| 11 | 18 | 18 | 3400
35 | 66 | 18 48 8 | 18 | 102 | 95 142 121 | 106 15 | 11 | 175| 11 | 18 | 18 | 4300
35 | 66 | 18 48 | 98 | 18 | 102 | 95 | 142 121 | 106 30 | 11 | 175| 11 | 18 | 18 | 5000
4 51| 18 33 70 | 18 | 102| 95 142 121 | 106 15 | 11 | 175| 11 | 18 | 18 | 3600
4 | 66 | 18 | 48 | 85 | 18 | 102| 95 | 142 121 106 15 | 11 |175| 11 | 18 | 18 | 4200
4 | 66 | 18 48 100 | 18 | 102 | 95 | 142 121 | 106 30 | 11 | 175| 11 | 18 | 18 | 5700

274 SUNG-IL MACHINERY



SUPPORT UNIT

SUPPORT UNIT OVERVIEW |

SUPPORT UNIT

SUPPORT UNIT FOR BALL SCREW (GREASE-INJECTION TYPE)

Structure

Grease Nipple

Bearing Cover

Lock Nut

Bearing

Housing
<. Oilseal ring -

= Advance design with a nipple being attached and a passage carved on the
bearing cover for a easier grease refill

= Prevention of foreign material and leak of grease by the inner oil-seal rings
= Accompanied by a high accuracy lock-nut and collars(spacer)

Features of BK-G, FK-G & SWBK-G Series

Easy and Simple Grease Injection : This structure does not require the mounted Support unit to be detached from the ball screw and
grease can be simply injected through the nipple on the body.

Enhanced Lubrication Performance & Reduced Bearing Friction : Intermsthat it is possible to frequently refill grease, it helps to
reduce friction/abrasion of bearing and eventually extends the lifespan.

When a Support unitis mounted at a volatile circumstance or used with vertical drive motors, grease usually gets disappeared
and lubrication of bearing doesn’t run smoothly. Thus, this Grease injection-type Support Unit series lets you refill grease
easily and solves thisissue.

How To Inject(Refill) Grease

= Whilea Support Unitis mounted, you may
inject grease through the nipple on the Support
unitbody, rotating the ball screw slowly.

Inject grease through the nipple

Rotate ball-screws
slowly

How to Order
BK17-G PO-C7 -
Precision Surface
Mark Bearing precision grade =~ Preload mark Surface Treatment
(DPrecision P5 P5 Medium @Surface no mark Black Oxide
grademark g General Medium Treatment RA Low temperature Black Chrome
PO-C7 General Light Plating (Raydent)

225



SUPPORT UNIT

| SUPPORT UNIT OVERVIEW

SUPPORT UNIT

SUPPORT UNIT FOR BALL SCREW (GREASE-INJECTION TYPE)

Recommended Shape Of Ball Screw Shaft-End (Fixed Side)

M
| |
‘ .'
~ B B B B = B B o -
g S ,' S
J i
L |
I
F E
Dimensions(mm) Lock-nut
I S Size
| Model | E | F | S | Mdel [ E [ F [ S | )
65 23 17 FK17-G 67 23 17 RN17 M17x1
65 25 17 FK20-G 73 25 17 RN20 M20x 1
80 30 20 FK25-G 86 30 20 RN25 M25x 1.5
87 38 25 FK30-G 87 38 25 RN30 M30x 1.5
93 45 28 FK35-G 93 45 28 RN35 M35x 1.5
114 50 35 FK40-G 114 50 35 RN40 M40 x 1.5
Dimensions(mm) Lock-nut
SWBK Size
-ME-- (MxPitch)
923
SWBK17-G 23 22 HLRN17 M17x1
DFD 108
@25 - @28
DF 923
20 17 SWBK20-G 25 24 HLRN20 M20 x 1
DFD 108
DF 98
@30 - @36 25 20 SWBK25-G 30 25 HLRN25 | M25x 1.5
DFD 113
DF 98
@40 30 25 SWBK30-G 38 25 HLRN30 | M30x 15
DFD 113
DF 101
35 30 SWBK35-G DFD 116 45 2 HLRN35 | M35x 15
DFF 131
DF 106
@50 - @55 40 35 SWBK40-G DFD 121 50 32 HLRN40 | M40x 1.5
DFF 136

276  SUNG-IL MACHINERY



SUPPORT UNIT

BK-G SERIES |

SUPPORT UNIT : BK-G SERIES

SUPPORT UNIT FOR BALL SCREW (GREASE-INJECTION TYPE / GENERAL LOAD)

BK17-G ~ BK40-G

N
Bt
4-@X Dril Thiu .

L3

@Y C'BORE DP Z
A
‘k

oY
cn L i
‘ |

[N

U

E

H1

@d1

L

c2

Dimensions

b£002 | hx002 | B1

Sizes (mm)

SIONEERS 20 | 35 | 20

CIVLRCINN 25 | 42 | 23

CIElEERS 30 | 45 |21.5

CLCLCaNN 35 (50 | 21

CICIEERS 40 | 61 | 27

558 8860 | 44 | 34 |52/50(22 70 19 8 |66 9 1485 30 85 16| 20 8 11400
68 | 9 |106/ 80 53 | 48 (64|70 338 22 10 9 |11 /175 11|35/85 19 23 9 | 2600
745 9 128 89 64 51 |76 78 33 /102|123 |11 11|14 20|13 40|85/175 225 | 9 |3600
77112 /140196 | 70 | 52 88|79 |35 114 26 12|11 |14 20|13 50 85 17| 22 12| 4800
92.5/15|160/110| 80 | 60 100 90 | 37 130 33 14 14|18 |26 175 50 85|23 | 315 | 15 | 7400

221



SUPPORT UNIT

| FK-G SERIES

SUPPORT UNIT : FK-G SERIES

SUPPORT UNIT FOR BALL SCREW (GREASE-INJECTION TYPE / GENERAL LOAD)

FK17-G ~ FK30-G

4=@X Diill Thru

#Y C'BORE DP Z

T1 E
L4 LS
e
i
.= O0]
g 5 T3
SR —
F H u
L

<A-A>
[ Install Method A]

x Additional note for [FK-30]
In case of choosing “Install Method B, size of spacer(collar) needs to be accordingly changed. Please contact Sung-il Customer Service team for more details.

Z
2

12|

IS

[ Install Method B ]

==

1
]

.

Dimensions

A |P.C.D| B

Sizes (mm)

Body

Install Install
Method A | Method B

SN 17 55 132 23 5650 77 62 |61 10 9 (1312 66 1120 24 85 16| 9 | 19 | 1100
SONEe S 20 | 61 31 30 59 57 8 70 68 8 | 10|12 | 14 (66| 11|19 |30 85 15| 11 | 20 | 1400
SRR 25 | 65 |35 130 68 6398 80 |79 13 10 20 17 9 15|21 |35 85 17| 15 | 23 | 1800
SENFe N 30 169.537.5 32 745 75 117 95 |93 17 | 12 | 17 | 18 | 11 175|225 40 85 185 9 | 225 | 2700
FK35-G ~ FK40-G
|
i
> [
Jg N
EE— K
S
Dimensions

Sizes (mm)

Spacer(collar)

35 | 48 | 16 32 77 112 100 154 132 |120| 24 12 | 11 |175 11 | 50 |35 16 12| 22 | 4700
40 | 61 | 18 | 43 |92.5/ 126|120 176|150 128 255| 16 14 20 | 13 50 | 65 175 15| 315 | 7300
278  SUNG-IL MACHINERY



SUPPORT UNIT

SWBK-G SERIES |

SUPPORT UNIT . SWBK-G SERIES

SUPPORT UNIT FOR BALL SCREW (GREASE-INJECTION TYPE / HIGH LOAD)

SWBK17-G ~ SWBK40-G

Dt

mi

u L

'?h\‘vlllﬂanp\w -

@Dt
oar

@
©,

.
/s

X
®

o

o/

u

B

mi

L

u

L

Dimensions

SWBK17-G-DF i

Sizes (mm)

Spacer(collar)
L4 L5

SWBK17-G-DFD i

SWBK20-G-DF  [@li]

SWBK20-G-DFD |ld]

SWBK25-G-DF @K}

SWBK25-G-DFD [s]

SWBK30-G-DF il

SWBK30-G-DFD el

SWBK35-G-DF 8]

SWBK35-G-DFD e8]

SWBK35-G-DFF &)

SWBK40-G-DF [y

SWBK40-G-DFD [

dl| L|H|F|E|TL|D1 L1 X|Y|Z|M G2
471153276 |15 72 | 70 |106| 88 58 |80 26| 9 (14 /85 M5/10 35 17| 15 | 28 | 2300
62 1547 /91 15 72|70 106 88 58 18026 9 |14 |85|M5|/10 35 17| 15 | 28 |2700
47 11532 |76 |15 72 | 70 |[106| 88 58 180 /26 9 |14 |85|M5|10 35 17 15 | 28 | 2300
62 1547 /91 15 72|70 106 88 58 180 26 9 |14 85|M5|/10 35 17| 15 | 28 | 2700
51 /18 /33|78 |18 |90 |8 130 110 | 70 100 25| 11 |17.5/11 |M6|12 25 16 18 | 28 | 3700
66 | 18 1 48 193 |18 |90 85 130 110 | 70 100 25 11 |175/ 11 |M6 12 25|16 | 18 | 28 | 4300
51 /18 /33 |78 18 90 85 130 110 | 70 100 25 11 |175 11 M6 12 25 16| 18 | 28 | 3600
66 |18 148 |93 |18 |90 |8 130 110 | 70 |100| 25 11 175 11 |[M6 12 25| 16 18 | 28 |4100
5118 33|79 |18 102 95 142 121 | 80 |106|26 | 11 |17.5{11 M6 12 |55 17 | 18 | 29 | 4300
66 | 18 148 |94 | 18 |102 |95 142 121 | 80 |106|26 11 175 11 |[M6 12 55 17 18 | 29 | 5000
66 | 18 ' 48 |109| 18 |102 | 95 142 | 121 | 80 |106|41 11 175 11 |[M6 12 55 17 18 | 29 | 5800
5118 |33 81 |18 /10295 |142| 121 | 80 |106|26 |11 175/ 11 M6 |12 |55 17 | 18 | 29 | 5000
66 | 18 148 96 |18 /10295 |142| 121 | 80 |106|26 |11 175/ 11 M6 |12 |55 17 | 18 | 29 | 6000
66 | 18 |48 11118 /10295 |142| 121 | 80 |106|41 |11 175/ 11 M6 |12 55 17 | 18 | 29 | 7200

SWBK40-G-DFF ]

229



